sepal length < 5.45
entropy = 1.5822
samples = 105
value = [36, 32, 37]
class = Iris-virginica

True False

sepal width < 3.45
entropy = 1.2082
samples = 67
value = [3, 28, 36]

class = Irls-V|rg|n|c }

sepal Iength <6.25
entropy = 0.9932
samples = 62
value = [0, 28, 34]
class = |ris-virginica

sepal length < 6.45
entropy = 0.971
samples =5
value = [3, 0, 2]
class = Iris-setosa

samples =6
value =[1, 4, 1]

class = Iris-versicolor

sepal width £2.45
entropy = 0.7219
samples =5
value = [0, 4, 1]
class = Irls-ver3|colo

sepal length <4.7
entropy = 1.2516

samples = 30
value = [0, 20, 10]
class = Iris-versicolor

4
sepal length<5.75
entropy = 0.9612
samples = 26
value = [0, 16, 10]
class = Iris-versicolor
value = [0, 3, 2] value = [0, 9, 7]

sepal width £2.85 sepal width <2.65
entropy = 0.7642 entropy = 0.9975
samples =9 samples =17
value = [0, 7, 2] value = [0, 9, 8]
class = Iris-versicolor class = Iris-versicolor
class = Iris-versicolor class = Iris-versicolo

sepal length < 5.65 sepal width £2.85 sepal length <6.05
entropy = 1.0 entropy = 0.9183 entropy = 0.9852
samples = 4 samples =9 samples =7
value = [0, 2, 2] value = [0, 6, 3] value = [0, 3, 4]
class = Iris verS|coIo class = Iris-versicolor class = Iris-virginica
sepal width <2.55 sepal length<6.15 sepal width < 3.1
entropy = 0.9852 entropy = 0.971
samples =7 samples =5
value = [0, 4, 3] value = [0, 3, 2]
class = Iris-versicolor class = Iris-versicolor
sepal length<5.9
entropy = 0.9183
samples =6
value = [0, 4, 2]
class = Irls-verS|coI

sepal width < 2.45
entropy = 0.9183

A
sepal width < 2.6
entropy = 1.0
samples = 2
value = [0, 1, 1]
class = Irls-verS|coIo

N N

sepal width < 3.25
entropy = 0.994
samples = 11
value = [0, 5, 6]
class = Iris-virginica

'

sepal width<2.9
entropy = 0.9911
samples =9
value = [0, 5, 4]
class = lris-versicolor

sepal width < 3.05
entropy = 1 O
samples =

value = [0, 4, 4]
class = Iris ver3|color

sepal length <6.95
entropy = 0.9852
samples =7
value = [0, 4, 3]
class = Iris-versicolor

samples =5 samples = 16

sepal length < 5.55
entropy = 0.971

sepal width £2.95
entropy = 0.9887
-

entropy = 0.9183
samples =3
value = [0, 2, 1]
class = Iris verS|coIo

N N

entropy = 1.0 entropy = 1.0 Segﬁ{r‘gidth:ﬁ 3(')1 0
samples =4 samples = 2 sam plgs _ 6
value = [0, 2,_2] value = [0, 1,.1] value 2 [0, 3, 3]
class = Iris-versicolor class = Iris-versicolor class = lris-versicolor

sepal length<6.8
entropy = 0.971
samples =5
value = [0, 3, 2]
class = Iris-versicolor

VAN

entropy = 0.9183 entropy =1.0
samples =3 samples =2
value = [0, 2, 1] value =[0, 1, 1]

class = Iris-versicolor class = Iris-versicolor




